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QUESTION 1

Which are three key routing principles in SD-WAN? (Choose three.)

A. FortiGate performs route lookups for new sessions only.

B. Regular policy routes have precedence over SD-WAN rules.

C. SD-WAN rules have precedence over ISDB routes.

D. By default, SD-WAN members are skipped if they do not have a valid route to the destination.

E. By default, SD-WAN rules are skipped if the best route to the destination is not an SD- WAN member.

Correct Answer: BDE

QUESTION 2

Refer to the exhibit.

diagnose sSys

reply—shaper=
per ip shaper= -
id=0 ha id=0 policy dir=0 tunnel=/ vlan cos=0/255

class
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ﬁook=post dir=org act=snat 10.0.1.10 2246->8.8.8.8:8(192.168.73.132:62662)

hook=pre dir=reply act=dnat 8.8.8.8:62662->192.168.73.132:0(10.0.1.10:2246)

misc=0 policy id=1 auth_info=0 chkiclient_inf?—o vd=0

serial—-00000a2c tos=ff/ff app_list=0 app=fJ url_ cat=0

rpdb link id= 80000000 rpdb svc id=0 ngfwid=n/a

npu state=0x040000

total session 1

Based on the exhibit, which statement about FortiGate re-evaluating traffic is true?
A. The type of traffic defined and allowed on firewall policy ID 1 is UDP.

B. FortiGate has terminated the session after a change on policy ID 1.

C. Changes have been made on firewall policy ID 1 on FortiGate.

D. Firewall policy ID 1 has source NAT disabled.

Correct Answer: C

QUESTION 3
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What is the Inkmtd process responsible for?

A. Monitoring links for any bandwidth saturation
B. Processing performance SLA probes

C. Flushing route tags addresses

D. Logging interface quality information

Correct Answer: B

QUESTION 4

Refer to the exhibit.

~ | | B
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interface ¥
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Based on the output shown in the exhibit, which two criteria on the SD-WAN member configuration can be used to
select an outgoing interface in an SD-WAN rule? (Choose two.)

A. Set priority 10.

B. Set cost 15.

C. Set load-balance-mode source-ip-ip-based.
D. Set source 100.64.1.1.

Correct Answer: AB
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QUESTION 5

Which two statements describe how IPsec phase 1 main mode is different from aggressive mode when performing IKE
negotiation? (Choose two )

A. A peer ID is included in the first packet from the initiator, along with suggested security policies.

B. XAuth is enabled as an additional level of authentication, which requires a username and password.
C. A total of six packets are exchanged between an initiator and a responder instead of three packets.
D. The use of Diffie Hellman keys is limited by the responder and needs initiator acceptance.

Correct Answer: AC
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